Measure Mass in Kilograms and Grams

1) Mark these masses on the scale with an arrow and a letter.

a) | A=400g | | B=900g | | C = 1kg and 500g | | D = 1kg and 100g

Og 1000g

b) What mass is F pointing to on the scale?

2) Record the mass shown on each set of scales.
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Measure Mass in Kilograms and Grams

1) Explain and correct the mistake.

The cockerel has a
mass of 2g and 500kg.

The mass of goose The mass of goose is 2 The mass of
is 2kg and 500g. and a half kilograms. goose is 2 and 3
kilograms.

Explain your reasoning.

3) Is this true or false?

1g is heavier
than 1kg.

Prove it!
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Measure Mass in Kilograms and Grams

1) Solve this problem.

a) What is the mass of a pig?

b) What is the mass of a cat?

c) What is the mass of a sheep?

d) How many pigs are equal
to the mass of a sheep?

e) Use the clue to workout the mass of a goat.

I am heavier than the total mass of two
pigs and a cat but not as heavy as a sheep.

My mass is a multiple 25 but not of 50.

Give your answer in kilograms and grams.

Find all possible answers.
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